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Homework # 34

-1} What number is 45% of 2] 27 is 30% of what 3) 21 is what percent of 607

907 number? 2l = x
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0 /00 x /o0 | 60x = 2100

- - ' = 400 =7

/00 % = H05D Sor =02 . 6o Co

/00 /00 X = 357

= o

X=40.5 =90

4] 40% of the students on a field trip love the museum. If there are 20 students on the field trip,
how many love the museum? ‘

X = Y0
Percent: 40 20 /00
) . < = e}
Part: X 160 A 8‘//20_
Whole: _ 20 /00

%= A srodents love Yhe museum

5) Curtis threw 15 darts at a dartboard. 40% of his darts hit the bull's-eye. How many darts hit
—~ the bull's-eye?

X - %o
Percent: 40 /5 /oo
Part: X LEOX = Q‘QQ
— SOD /700
Whole: /5

X6 duts hit Hhe bulis-eye

6] Matthew scored a total of 168 points in basketball this season. He scored 147 of those points

In the regular season, and the rest were scored in his only playoff game. What percent of his
total points did he score in the playoff game?

Jotol Fbimts 1B 168
Points in Regular season ___ /4 7 19T

Points in Playoffgame __ &[] 2!

Percent: X ;_Z,l <X
_Part__ Al b reo X~ /258 7
" 4hole: /68 /68X =200 |



7) A furnace used 40% of the fuel in its tank in the month of March. At the beginning of March,
there were 240 gallons of fuel in the tank. How much fuel (in gallons) was left at the end of
March?

A X =40 .

pavkz x 290 100 ézgf
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X = 70 §akons gas used L—%)\/

8} In Lewis County, there were 2,277 student athletes signed up to compete in spring sports in
2014. 8% of the athletes were unable to compete due to injury. How many students were
able to compete?

2,27+ = whole

X . 72

87 unable A3t /oo

2% able Joox = 209484
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9) Brad put 10 crickets in his pet lizard’s cage. After one day, Brad's lizard had eaten 20% of the
crickets he had put in the cage. By the end of the next day, the lizard had eaten 25% of the

remaining crickets. How many crickets were left in the cage at the end of the second day?
B % - 22
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